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7 100kN/ Mm% 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 000 ~ 573 71.59 | Fhst | 000 ~ o0.00| 1.57 7.91 zhLst 1.00 | 6.00 ~ 701 71.59 | TnLS | 500 ~ 7.01| 1.67 7.91
2 100kN/mM%EBZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 000 ~ 651 8204 | =nS | 000 ~ 000\ 1.57 7.91 zhLst 1.00 | 600 ~ 871 82.04 | =hs | .00 ~ 871 1.57 7.91
3 100kN/mM%EBZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 543 67.78 | FnLSY | 000 ~ 000 1.61 813 zhLst 1.00 | .00 ~ 6.20 67.78 | =St | 5,00 ~ 620\ 1.61 813
4 100kN/mM%EBZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — — |3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 765 9801 | =St | 000 ~ 765| 2.02 10.20 zhLst 1.00 | .00 ~ 1086 98.01 | =nhst | 6.00 ~ 1086 2.02 10.20
5 100kN/m%E#8z5| 1.00 | 0.00 ~ 1.53| 12325 |3m&#Bz5| — ~ — — — | 100kN/m%#z25% | 1.00 | 1063 ~ 1613| 12325 |3m%iBZ2% - ~ — — —
s 1.00 | 1.53 ~ 9.31 100.00 | #nlst | 000 ~ 931 | 2.30 11.63 Zhn Lot 1.00 | .00 ~ 1063 100.00 | =hLst | 6.00 ~ 1613 2.30 11.63
P 100kN/m%#8%z% | 1.00 | 000 ~ 1.03| 11548 |3mZEBz5| — ~ — — — | 100kN/m%#z25 | 1.00 | 1061 ~ 1390 11548 |3m%EiBZ5 - ~ — — —
s 1.00 | .03 ~ 881 100.00 | #nlst | 0oo ~ 881 | 213 10.76 Zhn Lot 1.00 | .00 ~ 1061 100.00 | =hLst | 6.00 ~ 1390 2.13 10.756
7 100kN/m%E#8z5| 1.00 | 0.00 ~ 097\ 114.50 |3mZE#Bz5| — ~ — — — | 100kN/m%#z25 | 1.00 | 11.87 ~ 1506 114.50 |3m%EiBZ% - ~ — — —
s 1.00 | 097 ~ 875 100.00 | #nLsy | 000 ~ 875 267 13.62 Zhn Lot 1.00 | 600 ~ 1187 100.00 | =hSt | 6,00 ~ 1506 2.67 13.52
3 100kN/ Mm% A5 — - ~ — — |3mEBZDH| — ~ — — — | 100kN/mM%E#BZ5 — - ~ — — |3m%EZ 5 - ~ — — —
Thilst 1.00 | 000 ~ 751 95.99 | Fhst | 000 ~ 751|241 1219 FhLst 1.00 | .00 ~ 1070 95.99 | Fhist | 5,00 ~ 1070) 2.41 12.19
9 100kN/ Mm% A5 — - ~ — — |3mEBZDH| — ~ — — — | 100kN/mM%E#BZ5 — - ~ — — |3m%EZ 5 - ~ — — —
ThLst 1.00 | 0.00 ~ 697 88.31 | =nst | 000 ~ 697 1.86 9.42 Fhst 1.00 | .00 ~ 887 8831 | #his | .00 ~ 887| 1.86 942
10 100kN/ Mm% Z 5 — - ~ — — |3mEBZDH| — ~ — — — | 100kN/mM%E#BZ5 — - ~ — — |3m%EZ 5 - ~ — — —
ThLst 1.00 | 0.00 ~ 651 82.04 | =nst | 000 ~ 0.00| 1.567 7.91 FhLs 1.00 | 600 ~ 871 82.04 | #nLS | 6,00 ~ 871 1.67 7.91
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Zzhst ~ st ~ ZhnLst ~ Zhust ~




